MTC-No.

30 21 01

30 21 02

302103

30 21 04

302105

m. { € pEa NN

MOSHREF TRADING CO.,L'TD
Manufacturer & Supplier of Lorry Spare Parts

cC om

ENGINE SUSPENSION

OE No.

387 240 0317

645 2400118

645 240 0618

000 241 0113

343 241 0013

Description

Front engine mounting

Rear engine mounting

Front engine mounting

Front engine mounting

Models

M 18*1.5 + M14*1.5

M16*1.5+M12*1.5

M18*1.5+M14*1.5
L 1924 / 1928

L-LA 1924 , 2624

L 1924 /1928




MOSHREF TRADING CO.,LTD

Manufacturer & Supplier of Lorry Spare Parts
WWwWwW . mtc p ariiscEi

ENGINE SUSPENSION
MTC=No. OE No. Description

30 21 06 000 242 1213 Rear engine mounting L-LA 1924 |, 2624

30 21 07 3562 240 0417 Rubber mounting L-LA-LT 911 B
302108 352 2400318 Rubber mountin L-LA-LT 911 B
302109 617 240 0217 Front engine L-LK 3235, 3548,

mounting 4435




